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Ggame #EELEHIN B-FABRIZIZ

L& T ggame BEELERHINE HZ M B THIFEL B ETE
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H A\EHN4EHY ggame HFIEELH
@]anguage python

from random 1mport random, randint

from ggame 1mport (
ADpD,.
Color,.
LineStyle,.
Sprite,.
Rectangle Asset,.
ImageAsset,.
CircleAsset,.
EllipseAsset,.
PolygonAsset,.
Frame,.
MouseEwvent, .
SoundAsset,.
Sound,.
TextAsset,

)

import math

from time 1mport time
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up =0
down =0
right = ()
left =0
P 0

g 0

]

its}

def w(event):
global up
global down
global right
global life
global pg
pg=4
up =1
down =20
right = 0
life=0

def s(event):
global up
global down
global right
global life
global pe
pg =1
up =0
down = 1
richt = 0
life=0
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class GG(Sprite):
asset = [mageAsset("1mages/pass.png”)
def 1mt (self, position):
super(). it (GG.asset, position)
self.scale = 1
self.visible = False
def step(self):
if ga:
self.visible = True

def di{event):

oglobal up
cglobal down
cglobal rnight
cglobal hife
cglobal pg
pg=0

up = 0
down =0
rigcht = 1
life = O

def a(event):

cglobal up
cglobal down
oglobal rnght
oglobal lhife
clobal pg
pg=4

up = 0
down = Q|
right = 0O
life = 1
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__init__ (self):
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class G(Sprite):
asset = ImageAsset("images/x.png")
def 1t (self, position):
super(). 1t (G.asset, position)
self.scale = 0.5
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def step(self):
1f random() < 0.1:
self.x += randint(-25,25)
self.y += randint(-25,25)
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class Bunny(Sprite):

asset = ImageAsset("images/rat.png" Frame(0,0,500,500), 1)

def 1mt (self, position):
super(). 1t (Bunny.asset, position)
App.listenKeyEvent('keydown', 'w', w)
App.listenKeyEvent('keydown', 's', s)
App.listenKeyEvent('keydown', 'd', d)
App.listenKeyEvent('keydown', 'a’, a)
self.scale = 0.3
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def step(self):

global up

clobal down

clobal right

global life

global pg

clobal gg

self.G = app.G

if up and self.y > O:
self.setlmage(pg)
selfly -= 10

if down and self.y < 770:
self.setlmage(pg)
sellly += 10

if right and self.x < 1710:
self.setlmage(pg)
self.x += 10

if life and self.x > O:
self.setlmage(pg)
self.x -= 10

il self.G.x + self.G.width >= self.x >=self.G.x and sell.G.y + self.G.height >= self.y >= self.G.y:
self.visible = False

gg =1

class A(Sprite):
asset = ImageAsset("images/food.png™)

def init  (self, position):
super().  init  (A.asset, position)
self.scale = 0.08

def step(self);
self.Bunny = app.Bunny
1f self. Bunny.x + self. Bunny.width >= self.x >=self.Bunny.x and self. Bunny.y + self.Bunny.height >=
self.y >= self. Bunny.y:
self.visible = False

class AA(Sprite):
asset = ImageAsset("images/food.png")

Cdelinit(self, position):
super(). 1mt  (AA.asset, position)
self.scale = 0.15

def step(selD);
self.Bunny = app.Bunny
1f self. Bunny.x + self. Bunny.width >= self.x >=self.Bunny.x and self Bunny.y + self.Bunny.height >=
self.y >= self.Bunny.y:
self.visible = False
self. Bunny.scale =0.5

class Be(Sprite): I
asset = [mageAsset("images/white.png")

mdcf init_ (self, position):
super(). init  (Bg.asset, position)

B dcf step(self):
self.x =0
selfy=0



class DemoApp(App):

def it (self):

super(). mit ()

Ba((self. width/2, self.height/2))

for 1 in range(10);
A((randint(50,1680),randint(50,750)))

for ¢ in range(10):
AA((randint(50,1680),randint(50,750)))

self. Bunny = Bunny((50,50))

self.G = G((840, 250))

self.GG = GG((740, 250))

def step(self):
for bunny 1n self.spritelist:
bunny.step()

app = DemoApp()...
app.run()
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